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567686 9: ;9; < =>? <?@A BC
vBy = vBz = 0 D
vBx = [−56,−55,−54,−53] D
A(2, 0, 3) # B(0, 0, 4) # C(1, 4, 2) # D(2, 1, 0) #

567686 9: ;E ; <A BF>? G HIJ>K
vBy = vBz = 0 D
vBx = [−16,−15,−14,−13] D
A(2, 0, 4) # B(0, 0, 4) # C(2, 4, 3) # D(3, 5, 0) #

567686 9: ;L ; M NO PHIQRH <??H
vBx = vBz = 0 D
vBy = [−18,−17,−16,−15] D
A(2, 0, 1) # B(0, 0, 4) # C(3, 3, 4) # D(2, 1, 0) #

567686 9: ;S ; MTIQRH U RPB?>V
vBy = vBz = 0 D
vBx = [−65,−64,−63,−62] D
A(1, 0, 2) # B(0, 0, 3) # C(2, 5, 1) # D(3, 1, 0) #

567686 9: ;W ; X>IYQA QR <O BIJH?@A
vBx = vBy = 0 D
vBz = [−12,−11,−10,−9] D
A(4, 0, 3) # B(0, 0, 2) # C(1, 3, 2) # D(2, 5, 0) #

567686 9: ;Z ; X QO [?QR \ >A >OO
vBx = vBz = 0 D
vBy = [−128,−127,−126,−125] D
A(4, 0, 2) # B(0, 0, 4) # C(0, 4, 4) # D(2, 1, 0) #

567686 9: ;]; ^A B_IQ ` H?>>O
vBx = vBy = 0 D
vBz = [−55,−54,−53,−52] D
A(1, 0, 2) # B(0, 0, 1) # C(2, 5, 3) # D(3, 2, 0) #

567686 9: ;a ; UAK HIQR ` H?>OH
vBx = vBz = 0 D
vBy = [−9,−8,−7,−6] D
A(1, 0, 1) # B(0, 0, 2) # C(3, 3, 1) # D(2, 1, 0) #

567686 9: ;: ; bHcHA B?IQR d RH?
vBx = vBy = 0 D
vBz = [88, 89, 90, 91] D
A(2, 0, 3) # B(0, 0, 4) # C(3, 4, 4) # D(1, 5, 0) #

567686 9: ;9e ; G HOHP>? ` H?>>O
vBx = vBz = 0 D
vBy = [−84,−83,−82,−81] D
A(3, 0, 2) # B(0, 0, 4) # C(1, 4, 2) # D(2, 1, 0) #

567686 9: ;99; G HAYT?QR <?YQ?
vBy = vBz = 0 D
vBx = [−16,−15,−14,−13] D
A(4, 0, 3) # B(0, 0, 3) # C(0, 2, 3) # D(1, 2, 0) #

567686 9: ;9E ; G HcK NYQR X HO B?Y>?
vBx = vBz = 0 D
vBy = [−150,−149,−148,−147] D
A(3, 0, 3) # B(0, 0, 4) # C(0, 5, 4) # D(2, 2, 0) #



567686 9: ;9L ; G BO BfIQ g HRBO
vBx = vBy = 0 D
vBz = [−48,−47,−46,−45] D
A(4, 0, 1) # B(0, 0, 1) # C(0, 2, 1) # D(3, 2, 0) #

567686 9: ;9S ; G QcHK B@ <O>
vBx = vBy = 0 D
vBz = [−45,−44,−43,−42] D
A(1, 0, 4) # B(0, 0, 2) # C(1, 5, 3) # D(2, 1, 0) #

567686 9: ;9W ; h>Q?QR g HRBO
vBx = vBy = 0 D
vBz = [−8,−7,−6,−5] D
A(2, 0, 4) # B(0, 0, 3) # C(3, 4, 4) # D(4, 5, 0) #

567686 9: ;9Z ; hQIQO QR \ Q?JYH?Y>?
vBx = vBz = 0 D
vBy = [−45,−44,−43,−42] D
A(3, 0, 1) # B(0, 0, 4) # C(1, 3, 1) # D(2, 1, 0) #

567686 9: ;9]; i QcO QR <O BIJH?@A
vBx = vBz = 0 D
vBy = [54, 55, 56, 57] D
A(3, 0, 1) # B(0, 0, 3) # C(3, 3, 3) # D(2, 4, 0) #

567686 9: ;9a ; j QR>IQR hYH?>JOHR
vBy = vBz = 0 D
vBx = [88, 89, 90, 91] D
A(2, 0, 3) # B(0, 0, 2) # C(3, 4, 4) # D(1, 5, 0) #


